What led Henry VIl to break from Rome? Write about A two or B four
important reasons

Henry had problems and needed to decide which version of christianity
would help him the most.He had money and heir problems-who would be
his heir if he had no children .

In 15633, Henry broke from the church and married anne boleyn in a secret
ceremony. This solved Henry's heir problems.

During henry's reign protestants grew
2. If you were an advisor to Henry VIl what would your opinion be?

Write a letter to Henry VIl to: A persuade him to break with Rome OR
B persuade him NOT to break with Rome.




